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1.2
Find the adjoin of matrix A = [ 3 4 ]

4 2 4 -2 12 1 -2
a |31 B |-3 1 © |34 d|-3 4
’ ; y2-4\ _,
What is the value of Ilmy_>2 (YT) =7
a) 2 b) 4 c) 1 d O
A solution of a differential equation in which the number of arbitrary constants is
equal to the order of differential equation is called the .......... solution.
a) General b)  Particular ¢)  Singular d) None
Answer/Write a short notes on any FIVE of the following: (5x3=15)

Explain any THREE connectives used in propositional logic.

Use truth table to show that ( ~a —> b )A( ~b v ( ~a v ~ b)) is logically equivalent
to~(a<—>b). ’

In a college, 200 students are randomly selected, 140 like tea, 120 like coffee and
80 like both tea and coffee. Using Venn diagram find :

a. How many students like only tea ?

How many students like only coffee ?

How many students like neither tea nor coffee ?

How many students like only one of tea or coffee ?

® ao00o

How many students like at least one of the beverages ?
If f : R —> R is defined by f(x) = x® + 3x + 2, write f (f(x)).
Explain any THREE types of Relations.

Find the adjoint of the following matrix

1 3 1
| 3 2 s
A= 2 2 2

What is meant by Rank of a matrix ? Explain by taking a suitable example.

fim (( 6.+ h)2 36

Evaluate | __ h ) if it exists
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III. Answer any THREE questions from the following: (3x5=15)

-1,

Use the truth table method to verify whether the following formulas are Tautology,
Contradiction, or neither tautology Nor Contradiction.

(=p—>q)V({(pA-r)<—>Qq

m-2. I f(x) =x? g(x) =3x and h(x) =x -2, Prove that (fog)oh=fo(goh)
II-3. Find the inverse of following matrix.
0 5 5
A= 1 6 5
2 8 9
IlI-4. What are Eigen values ? How to determine Eigen ‘Values ? Explain by taking
suitable example.
m-5. ff(x)=[2x]-3,g(X)=x-[3/x]+4andh(x)=-[2@2x+1)]/[x+x~-12],
then what is the value of lim (f(x) + g(x) + h(x)) ?
x—>3
IV. Answer the following: (2x10=20)
IV-1. a) i. Wirite a note on Predicate and Quantifiers.

i. In a group of 100 persons, 72 people can speak English and 43 can
speak French. How many can speak English only? How many can
speak French only and how many can speak both English and French?
Calculate. (4+6)

OR
b) Solve the following systems of linear equations by Cramer's rule:
3x+3y-z=11
2x-y+22=9
4x +3y +22=125 (10)

v2 a) i A= [7 8 6 B=[4 11 -8
1.8 9 1 2 4
’ -4 3 7 5 0

Find: i) 4A-3B i) . 2A+5B
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Check whether the relation R defined in the set {1, 2 3, 4, 5, 6} as
R ={(a, b) : b = a + 1} is reflexive, symmetric or transitive. (6+4)

OR

1 -1
Verify Cayley — Hamilton theorem for the matrix A = [ 6 _2}
and find its inverse.

Let F(x) = 3x* — 9x? — 27x + 15. Find the Maxima and Minima values.
(5+5)
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First Semester BCA Degree Examinations

January/ February 2023
(CBCS NEP Scheme)

Paper : NBA 0210 : FUNDAMENTALS OF COMPUTER

Time : 2 Hours Max. Marks : 60
Instructions to students :

1.
2.
3.

L 1.

1.

I-2.

1-3.

I-4.

I-6.

1-7.

1-8.

The students should legibly write section number along with question numbers.

The answers without section number and question numbers will not be valued.

The question numbers should be legibly written within the margin only.
SECTION-I

Select the most appropriate answer from the options provided: (10x1=10)

Who is the Father of Computer \

(@) Charles Babbage (b) Dennis Ritchie

(c) Pascal (d) None of the above

Abbreviate ENIAC

a) Electronic numerical Integrator and computer

b)  Electronic numeric Integration and calculation

c) Electronic number in automatic computer

d) Electronic numerator in automatic computer

Which one is not an input device

a) Mouse b)  Joy stick

c) Light pen d)  Monitor

Choose the one which is not similar

(a) Microsoft Windows (b)  Unix

(c) Linux (d) Software Utilities
. Which one of the following is the DDL command.

a) CREATE b) SELECT

c) INSERT d) GRANT

Uniform Resource Locator is an

a) Webbrowser b)  Address

c) Computer d) Convertor

Which one is correct ?

a) CSS --> cascading style sheets
b) CSS --> cascading sheets style
c) CSS --> cascade sheets style
d) CSS --> computer style sheet

Booting is a -
a) Startup sequence that starts the operating system of a computer when it is
turned on -

b)  Stop sequence when computer shut down
¢) Input / Output device checking
d) Booting process
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1-9. Which command is used to copy a file

a) m b) cp
c) mv d G
1-10. Which one is not a computer language ?
a) Machine level tanguage b)  Assembly level language
c) Highlevel language d) Level language
SECTION-II

II. Answer any FIVE of the following:

II-1. Explain Block diagram of Computer.

T-2. Write short notes on tybes of software.

H-3. Briefly explain Flowchart and pseudocode with examples.
1I-4. Explain Mini computers and super computers.

II-5. Explain the functions of an operating system.

II-6. Differentiate File system and DBMS.

1I-7. What are Internet Service Providers ?

11-8. Explain how cpu and Memory Works.

SECTION-III
III. Answer any THREE questions from the following:
III-1. Write a note on history or evolution of computers.

1II-2. Write a note on micro controller.
I1-3. Explain the types of Operating Systems.

11I-4. Define : i) DML iy TCL i) DDL with examples
III-5. Write a short note on webbrowsers.
SECTION-IV
IV. Answer the following:
IV-1.a) Explain computer codes:- i) BCD code i) Unicode
OR
b)  Explain

i) Logical and Physical address
i) Explain Domain Name System

IvV-2.a)  Convert the following:

i) (285),,=("?), i) (1010101), = ( ?),,
b)  Explain characteristics of computers.
’ OR

a) i) Write a note on database users.
iy Explain the applications of Internet.
* * %

2

(5x3=15)

(3x5=15)

(2x10=20)
(5+5)

(5+5)

(5+5)

(5+5)
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First Semester BCA Degree Examinations
January/ February 2023
(CBCS NEP Scheme)

Paper : NBA 0220 : PROGRAMMING IN C
Time : 2 Hrs. Max. Marks : 60
Instructions to students :

1. The students should legibly write section number along with question numbers.
2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

SECTION-I
I Select the most appropriate answer from the options provided: (10x1=10)
I-1. C is a which level language ?

(@) low level (b) High level
(c) low + high (d) Machine level
I2. Cisa type of programming language.
a) object oriented b)  Procedural - oriented
c) Bit level language d)  Functional

I-3. What is an Identifier in C - language.
a) Name of a function or variable b) Name of an array
c) Name of structure or union d) All the above
I-4. Choose correct statement
(@) A constant value does not change
A variable value can be change according to needs
(b) A constant can change its value
A variable can have one constant value only
(c) There is no restriction on number of values for constants or variables
(d) Constants and variables can not be used in a single main function
I-5. Identify wrong.C keywords below
a) auto, double, int, struct b) break, else, long, switch
c) case, enum, register, typedef d) char1, extern2, intern, return3
1-6. Choose a'right statement
inta=10 + 4867 .
a) a=10 b) a=14.867
c) a=14 d)  compiler error
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1I-5. With syntax explain, simple -if statement.
1I-6. How do you declare and initialize one dimensional array ?

1I-7. Write format of C user defined function. Give example.
II-8. List any three differences between structure and union.

SECTION-III

III. Answer any THREE questions from the following:
II-1.  Explain structure of a C program. Give example.
III-2. Explain Arithmetic and logical operators.

I-3. With syntax and example, explain switch statement.
III-4. Write a C-program to add two matrices.

III-5. Write a note on union with example.

SECTION-IV
IV. Answer the following:
IV-1. a) i) Explain datatypes available in C.
i) Explain unformatted input statements.

OR
b) i)  Explain goto, break and continue statement.

Q.P. Code: 34122

(3x5=15)

(2x10=20)

(545)

i) With syntax and example explain any five string handling functions.(5+5)

IV-2. a) i) Explain categories of user defined functions.

ii)  Define pointer and which operators we are using in pointers. (5+5)

OR
b) i)  With example, explain structure used in 'C'.

i) Write a program to demonstrate student structure to read and display

records of n students.

(4+6)
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First Semester B.C.A. Degree Examinations
January/ February 2023
(2021-22 CBCS NEP Scheme)
Paper : NBA 0230 : MATHEMATICAL FOUNDATION (NEP)
Time : 2 Hours Max. Marks : 60
Instructions to students :

1. The students should legibly write section number along with question numbers.
2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

Note: Student can use normal calculator.

L. Select the most appropriate answer from the options provided: (10x1=10)
I-1. The proposition p <> ~ ( ~p )
(a) Tautology (b) Contradiction
(c) Contingency (d) Absurdity
2 T—>F=__
a) T b) F
c) aandb d) None of the above
I-3. Which of the following is a subset of set {1, 2, 3, 4} ?
a) {1} by {1,2,3}
Sy (1,2} d) Al of the above
I-4. The function (gof) is , if the function f and g are onto function ?
(a) Into function (b) one to one function
(c) onto function (d) one-to-many function
I-5. Matrix theory was introduced by
a) Newton b)  Cayley-Hamilton
c) Cauchy d) Euclid
I-6. If determinant of a matrix is equal to zero,.then it is said to be
a) square matrix b)  singular matrix
c)  non-singular matrix d) identical matrix
0 1
I-7. Consider the matrix X, shown below X = [ 1 2 ]
05

01 10 10 10
Al 4o b | o 1 9o 1 9100
00 00 0 1 01
Which of the following matrices is the reduced row echelon form of matrix X ?

a) Matrix A b) Matrix B c) Matrix C d)  Matrix D

1




